

### Florida Department of Transportation

02/25/2020

Page 1 of 1

**Vendor Ranking** 

**Letting:** 08200211 February 11, 2020 02:30 PM **Call Order:** 003 **Contract:** E8S38-R0

District: Turnpike Counties: TURNPIKE Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

Project(s): 41385919334 (\*)

Contract Desc: MAINTENANCE OF TRAFFIC (TOLLS) - STATEWIDE

Ran	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	BOB'S BARRICADES, INC.	Responsive	Winning bid	\$659,492.50	100.00% Intent to AWAR
2	TRAFFIC CONTROL PRODUCTS OF FLORIDA, INC.	Responsive	Non-Winning Bid	\$735,262.50	111.49%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.

POSTING DATE AND TIME: FEBRUARY 25, 2020 AT 4:00 PM



#### Florida Department of Transportation



#### **Tabulation of Bids**

Page 1 of 4

**Letting:** 08200211 February 11, 2020 **Call Order:** 003 **Contract:** E8S38-R0

District: Turnpike Counties: TURNPIKE Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

Project(s): 41385919334 (\*)

Contract Descr: MAINTENANCE OF TRAFFIC (TOLLS) - STATEWIDE

The work specified in this contract consists of providing all labor, materials, equipment, and incidentals necessary to furnish, install, maintain, and remove traffic control devices for the temporary lane closure of lane(s) at various service plazas, toll plaza locations and all other Turnpike locations statewide.

Prior to beginning work under this Contract, the Contractor shall submit to the Engineer for approval, two copies of the Contractor's proposed plan and methods for performing the work, including a listing of equipment and personnel anticipated for use.

No U-turns shall be permitted as a condition of this Contract, except at Service Plazas.

Mobilization item shall be full compensation for mobilization/demobilization per Location, for a routine response authorized by a work order. A Location is defined as item/items of work authorized by a single work order for work to be accomplished within a 1-mile length of highway.

The Contractor shall perform all work during day and night time hours and in accordance with the Turnpike Lane Closure Policy.

#### NO PRE-BID CONFERENCE WILL BE HELD FOR THIS PROJECT.

Line No / Item ID Alternate Item Description	Quantity Units	(1) BOB'S BARF	RICADES, INC.	(2) TRAFFIC PRODUCTS OF			
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	TRAFFIC CON	TROL (MH)					
0005 0102 14 TRAFFIC CONTROL OFFICER	2,000.000 HR	49.00000	98,000.00	50.00000	100,000.00		
0010 0102 60 WORK ZONE SIGN	5,000.000 ED	0.25000	1,250.00	0.10000	500.00		
0015 0102 62  BARRIER MOUNTED WORK ZONE SIGN- INDEX 11871/700-013	300.000 ED	0.10000	30.00	0.10000	30.00		



Page 2 of 4

# Florida Department of Transportation



# **Tabulation of Bids**

Lettin	<b>g</b> : 082	00211 F	ebruary 11, 2	020 <b>Cal</b>	l Order: 003		Contract:	E8S38-R0	
	No / Item ID Description	Alternate	Quantity Units	(1) BOB'S BAR	RICADES, INC.	(2) TRAFFIC PRODUCTS OF			
( ) in	dicates item is bid a	s Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION: 0	0001	TRAFFIC CON	TROL (MH)					
	0102 74 1 ELIZING DEVICI UM, OR LCD	E- TYPES I, II	50,000.000 , DI, ED	0.10000	5,000.00	0.10000	5,000.00		
0025 CHANN	0102 74 2 ELIZING DEVICI	E, TYPE III, 6'	2,000.000 ED	0.10000	200.00	0.10000	200.00		
_	0102 76 V BOARD / ADVA V PANEL	NCE WARNI	450.000 NG ED	10.00000	4,500.00	125.00000	56,250.00		
	0102 99 BLE CHANGEAE EMPORARY	BLE MESSAG	850.000 E ED	25.00000	21,250.00	80.75000	68,637.50		
	0102 99 1 BLE CHANGEAE 'EMPORARY, DE OLLED		100.000 E ED	24.00000	2,400.00	20.00000	2,000.00		
0045 PORTA	0102150 1 BLE REGULATO	RY, SIGN	125.000 ED	0.25000	31.25	0.50000	62.50		
0050 RADAR	0102150 2 SPEED DISPLA	Y UNIT	125.000 ED	0.25000	31.25	0.50000	62.50		
0055 MOBILI	E101 1 1 ZATION		500.000 LO	395.00000	197,500.00	210.00000	105,000.00		



**Contract Grand Totals:** 

# Florida Department of Transportation

# 02/25/2020

# **Tabulation of Bids**

Page 3 of 4

Letting: 082	200211 F	ebruary 11, 20	020 <b>Cal</b>	I Order: 003		Contract:	E8S38-R0	
Line No / Item ID Item Description	Alternate	Quantity Units	(1) BOB'S BARF	RICADES, INC.	(2) TRAFFIC PRODUCTS OF			
() indicates item is bid	as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION:	0001	TRAFFIC CONT	TROL (MH)					
0060 E101 72 MOBILIZATION (EMERO RESPONSE)	GENCY	75.000 EA	200.00000	15,000.00	210.00000	15,750.00		
0065 E102 20 PORTABLE LIGHTING MOUNTED)	UNIT (MAST	20.000 ED	90.00000	1,800.00	1.00000	20.00		
0070 E102 74 9 TRAFFIC CONES		35,000.000 ED	3.00000	105,000.00	4.75000	166,250.00		
0075 E102 97 1 TRUCK MOUNTED ATT (TEMPORARY)	ENUATOR	275.000 ED	700.00000	192,500.00	740.00000	203,500.00		
0080 E102100 MOT MAINTENANCE S	ERVICES	3,000.000 HR	5.00000	15,000.00	4.00000	12,000.00		
0001 TRAFFIC CONT	ROL (MH) Se	ection Totals:		\$659,492.50		\$735,262.50 <sup>°</sup>		

\$659,492.50

\$735,262.50



# **Florida Department of Transportation**

02/25/2020

### **Tabulation of Bids**

Page 4 of 4

**Letting:** 08200211

February 11, 2020

Call Order: 003

Contract:

E8S38-R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.